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39- The physician tried to attend the meeting: “attend”

1) be late to 2) be present at

3) beinterested in 4) be ashamed of
40- The problem the math teacher gave uswas ..... hard
for usto solve.

1) enough 2) so 3) too 4) such
41- The chairman got thetypist..... the letter.

1) type 2) to type

3) typing 4) typed
42- The dusty books showed me that no one..... them for
alongtime.

1) had read 2) hasread

3) hadn’t read 4) hasn’t read
43- | didn’t see my friend at the party, | wish I ..... him
there.

1) have seen 2) had seen

3) can see 4) saw

44- When the shopkeeper found that he had given wrong
1) what a pity 2) Thank you
3) That would be nice 4) | do apologize
45- [t’snot right to let others..... in your private life.
1) manage 2) invent
3) interfere 4) absorb
46-In order to educate children better and moreefficiently

1) shouldn’t let them play at all.
2) should prepare them for life.
3) should give them university degrees only.
4) shouldn’t give them university degrees at all.
47- If the sunlight war med the sea and the land equally,
what....... ?
1) would happen 2) would have happened
3) will be happened 4) will happen
48- When an actor ison the stage, he should..... .
1) be able to act like an unreal person.
2) consider the needs of his listeners.
3) invent something new.
4) perform what isin the play.

49- Who is responsible ..... the increasing rate of
unemployment in our country.

1) of 2) at 3)in 4) for
50- “Is it possible for a blindman........ a busy street
easily?” “I’m not sure”

1) to cross 2) crossing

3) to crossing 4) cross
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